bar{A} A\

Ratio to LHCB

N
N

N

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

900 GeV pp
AL B

m LHCB

N vs p.(2<y<4)

--G-- Herwig++ 2.5.0 default

Soft QC

Rivet 3.1.0, = 100k events

:_ --3-- Herwig 7.2.0 default _:
H - d=
~ PRSI 4 _—g
oy
— o O — 3
I \©~ _.E.
N i <
— 1©
- _lc
[ O du
— B
u 418
TP R O RPN N TR HPURN AU SO AU AR SR AU RV SN SR AV RNPURY NP BRI S I -
e A
— -2
- AR 2 E
- 0 - U ]
n ::" ‘~-g\ ]
o \ ] 1
| \@\\ _|
| —0.5
..... I T S T T T S T T A TR T T TR E T S T R
0.5 1 1.5 2 2.5



	Contents
	Page 1


